Solution of ECE 315 Test 11 FO8

1 Trect,[n]x4sin(27n/12)¢"— Adrcl(F,a)[él(F +b)-6,(F - b)]
rectin]@?drcl(F,?)
sin(27n/12) = (j12) 8,(F +1/12) - 6,(F -1/12) ]
7rect,[ n]«4sin(22n /12) = josdrel(F,7)[ 6, (F +1/12)- 5, (F -1/12)]

5,(F+1/16)-5,(F-1/16)

2. j42drol(F 5)[8,(F +1/16)-6,(F -1/16) |e™** = A{—j[él(lz +1/16)+5,(F ~1/16)]

drel(~1/16,5)e 75, (F +1/16)]

(e (¢ +118) - -1 =y "o R T

| %610: +1/16) |
—1%51(F—1/16)_
_ . 35.8006] 8,(F +1/16)-5,(F -1/16)
() (¢ +178)-a -2 =28 O S
5,(F +1/16)-6,(F -1/16)
~i[8,(F +1/16)+5,(F -1/16)]

j42drcl(F 5)[ 8, (F +1/16) - 6,(F -1/16) e = ja2drcl(1/16,5

ja2drel(F ,5)[ 6,(F +1/16) -5, (F -1/16) Je*" = j25.3148{

3, Acos[zn(:l_ n°)] £, 30 {(1-3)8,(F +1/16)-(1+ )5, (F -1/16)}

J_
0 V2

Acos 2”(:'_”0)] = (Ar2)[8,(F-1/N,)+5,(F +1/N,)Je ™

0

0

ACOS[ZE(:I—nO)J = (Ar2)[e s (F -1/ N,) +e ™5 (F+1/N,) |

N, =16
j%{(l— i)8,(F +1/16)— (1+ j)3,(F - 1/16)} = (A72)[ "5, (F ~1/16) + ™" (F +1/16)]
j%(l— j):(A/Z)ejZnnolls o j%(ﬂ j):(A/Z)e—jZnnolle
Dividing the first equation by the second,
o j2mn, 116 o _
_i+ : = :—127rn0116 :_i+ j :eJ‘“”'D“B
_e‘j’”" = I _ _omni2 — I8 _ qinl2 — oi4m/16 _ — o
gir/4 - - - 0o~
j%(l_ j)=(Ar2)er :(AIZ)%ﬁ(A/Z): jSGH: 136%: jseeg_’fjj:%: A=T72
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1. 7rect2[n]*4sin(27rn/8)@ AdrcI(F,a)[cSl(F + b)—él(F - b)]
rect,[ n ]<L>5drcl(F,5)
sin(2zn/8)e=—(j/ 2)[8,(F +1/8)-0,(F-1/8)]
Trect,[n ]*4sm(2nn/8) J7OdrcI(F 5)[61(F +1/8)—51(F—1/8):|

2. jeadrel(F.7)[6,(F +1/12)- 5 (F -1/12) Je™" = A{51(F +1/12)-6,(F-1/12) }

-i[8,(F +1/12)+5,(F -1/12)]

drel(-1/12,7)e75, (F +1/12)

—drel(1/12,7)e""5,(F -1/12) |
1- |

j2adrel(F,7)[ 8,(F +1/12) -8, (F -1/12) [ = jz{

—=5,(F+1/12) |
j2adrel(F,7)[ 8,(F +1/12) - 6,(F —1/12) | = j24drcl(1/12,7) V2 _
—“—Jél(F—lllz)

72
12.7956] 8,(F +1/12)- 5, (F -1/12)
A -j6,(F +1/12) - j&,(F -1/12)

| o 8,(F+1/12)-5,(F-1/12)
j2acicl(F.7)[6,(F +1/12) -5, (F ~1/12) ] = J9_0479{_][51(F +1/12)+6,(F-1/12) ]

j24drcI(F,7)|:61(F +1/12)_51(F _1/12):Iej3ﬂF -

3, Acos[zn(:l_ n°)] £ 'E{(l— i),(F +1/8)~(1+ )5, (F - 1/8)}

Acos ZE(L_%)J s (Ar2)[8,(F-1/N,)+6,(F +1/N,)Je ™

Acos[zn(:l_ no)] F (A/Z)[e’jz”””/N°5l(F -1/ N0)+ej2””°'N°51(F +1/ No)]

N,=8

0

1'1722{(1— j)8.(F +1/8)-(1+j)3,(F —1/8)} :(A/z)[e—izﬂnols(;l(p ~1/8)+ e (F +1/8)J
lezz(l— j):(A/Z)ejZnno/S - lezz(1+ j):(Alz)e—jZEnD/s

Dividing the first equation by the second,
11— i 1- J plémy /8

= - = —
1+j e—]ZﬂnOIB 1+ J

e—jzr/A

— pl4mng /8 —jnl2 _ ,Jj4nn,/8 12 _ pj4nn, /8 —
i I L e N T . = |
ejn/4 0

J\%(l—j):(A/Z)eJ""‘:(A/Z)l%zjﬁ(A/Z) 112_1-11291”/4 jl2g "2 =12 = A=24

=]



